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1. Determine the pH and the equilibrium concentrations of all species in a solution that contains 0.350 M HNO2, 0.210 M Ca(NO2)2, and 0.100 M NaNO2.
2. A scientist wishes to prepare a buffer solution to work at pH=10.6. Specify two compounds needed to prepare the buffer, using at least one of the following compounds. Show enough work to clearly explain your reasoning.
Hydrofluoric acid (HF)

Methylamine (CH3NH2)

Aniline (C6H5NH2)
3. A 26.00 mL sample of 0.400 M HCN is titrated with 0.200 M Ca(OH)2.

a) What species are in solution at the equivalent point?  Should the solution at the point be acidic, basic or neutral? 

b) What is the pH of the solution at the equivalence point?
4. In tonight experiment the solubility product, what salt are you determining the Ksp for?
